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Effective Hamiltonian

Assumptions for H:
e H is 1-periodic in x and ¢.
e H has superlinear growth, i.e.

H(x., t
lim —(x’ .P)

— oo uniformly in z and t. (1)
pl=co  |p|

e H(x,t,-) is strictly convex for all x and ¢.
o [VoH(z,t,p)| < Co(1+ p])-

Theorem 1 ' ? For all ¢ € R there exists a uniquely defined H(c) such that
there exists a viscosity solution u of

O+ H(t,z,c+ Vu) = H(c) (2)

and u is 1-periodic in T and t.

1 Evans, Gomes: Effective Hamiltonian and averaging for Hamiltonian dynamics I. Arch. Rational Mech. Anal., 157, 1-33, 2001

2 Evans, Gomes: Effective Hamiltonian and averaging for Hamiltonian dynamics IT. Arch. Rational Mech. Anal., 161, 271-305,
2002



Theorem 2 ° * For all ¢ € R there exists a uniquely defined H(c) such that
there exists a viscosity solution u of

Ou+ H(t,x,c+ Vu) = H(c) (3)
and u is 1-pertodic in x and t.
Remark 3 e H(c) is called the effective Hamiltonian

e Fquation (3) can be considered as a nonlinear eigenvalue problem for u and
H(c).

e H(c) encodes substantial information of H.

3 Evans, Gomes: Effective Hamiltonian and averaging for Hamiltonian dynamics I. Arch. Rational Mech. Anal., 157, 1-33, 2001

4 Evans, Gomes: Effective Hamiltonian and averaging for Hamiltonian dynamics II. Arch. Rational Mech. Anal., 161, 271-305,
2002
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Applications of the effective Hamiltonian: Minimal orbits



Problem: For given ¢t € R,z € R" and L(s,y,p), 1-periodic in s,y find abso-
lutely continuous 7 :| — 00, t] — R" such that +(¢) = x and 7 minimizes the
functional

J(x,t,7) :=/ L(r,~v(7),5(7))dr.

Example for L: Double pendulum:
L(¢,¢) : = (my+myg)gly cos g1 + magly cos py

mi1+m m
%l% /12 + 7213(#22 + mglllgqbll(blg COS(Cbl - ¢2)

If ~ is sufficiently smooth then ~ satisfies the Euler-Lagrange equations:

T Lo(v(7),7'(7)) = La(7(7), (7)) = 0. (4)



Characterization of the minimizer via Hamilton Jacobi equations:

Definition of the Hamilton function:

H(t,xz,p) :=sup{p.v — L(t,z,v) : v € R"}

Theorem 4 ° For all ¢ € R there exists a uniquely defined H(c) such that there
exists a viscosity solution u of

Ou+ H(t,z,c+ Vu) = H(c) (5)

and u 1s 1-pertodic in x and t.

Define p(t, x) := ¢+ Vu(t, x).

5Evans, Gomes 2002



Define p(t, ) := ¢ + Vu(t, x).
Lemma 5 For given (t,x) let v be the solution of

V(1) = GH(1, (1), p(r,7(1)))

V() = (6)
Then we have: If v is sufficiently smooth then v satisfies the Euler—Lagrange
equations:

diTLv(v(T),v’(T)) — Lo (7(7),7(7)) = 0 (7)

and the Hamilton system:

7/(7_) - apH(7_7 7(7_)7]?(7_))
p/(T) - _axH(Tv 7(7-)7]9(7-)) (8)

with initial conditions v(t) = x and p(t) = ¢+ Vu(t, ).

Remark
e (8) has lower order than (7).

e (8) can be solved if (5) is solved.



e Difficulties: for solving: dyu + H(t,z, P + Vu) = H(P)

— In general the solution is not differentiable.

— For fixed H(P) several solution can exist.

— There exist H(P) such that no viscosity solution exists’.
— The constant H(P) makes the problem much harder than

Owu+ H(t,z,Vu) =0

— Existence of a solution (H(P),u)

x in 1D: Jauslin, Kreiss, Moser (1999, using conservation laws)
« for the stationary case: Lions, Papanicolao et al.

x nonstationary case: here

« This result is the bases for the numerics.

6Gomes



Remark 6 ( Relation to conservation laws in 1-D)
O+ H(t,c+ 0,u) = H(c)
Let v := 0,u (formally) and obtain

v+ 0. H(t,c+v)=0

or

O + 0 f(v) =0

Note: For solving (8) we only need p = ¢ + 0, u.

(10)

(11)



Summary of the first part:

J(,7) == / L(r.y(7), 4(r))dr.

—0o0

Owu+ H(t,z,c+ Vu) = H(c) (12)

u is 1-periodic in x and t.

Define p(t, z) := ¢ + Vu(t, x).

For given (¢,z) let v be the solution of

V(7) = GpH(7, (1), p(r.7(7)))
v(t) = = (13)

Then we have: If v is sufficiently smooth then ~ satisfies the Euler-Lagrange
equations:

T Lo(3(7):7'(7)) = La(v(7), 7/ (7)) = 0 (14)




Applications of the effective Hamiltonian: Homogenization

owu = a(x)|Dul
o = a(§)|Du5\

More general:

Question: w® — 777
Answer:

Owu(t, ) + H(x,c+ dyu(t,z)) = H(c)

Theorem 7 " w® — w’ and W is a solution of

8tw0 + H(wg) =0

A similar result is also available in nD ©.

"Lions, Papanicolao, Varadhan 1988, Concordel 1995, Qian 2003
8 Evans, Gomes: Effective Hamiltonian and averaging for Hamiltonian dynamics II. Arch. Rational Mech. Anal., 2002




Applications of the effective Hamiltonian:
Front propagation (Homogenization)

Isothermal, non premixed turbulent combustion ’

us(z,t) = mass fraction of the unburnt gas (unknown)
uo(x,t) = mass fraction of the burnt gas, (unknown)

v-(x,t) = (turbulent) velocity of the gas (given)

Ansatz for v.(x,t):

ve(x,t) = vg(x,t) + v (=, -)

)

™ |8
™ | =

Mathematical model for the one step reaction:

Oup — Auy +v:.0,uy = —uruy
Orug — Aug +v:-0,u9 = —usug

9Majda, Souganidis 1999



Oup — Aup +v.0,up = —usuy
Orug — Aug +v:0,u9 = —usuy

Transformation: u = uy — wg, 2 1= uy:

Oz — Az 4+ 00,2 = z(u— 2)

ou — Au = 0
Fast reaction, slow diffusion:
1
Oz —eAz+ 0.0,z = —2(u— 2)
€

ou —cAu = 0



Fast reaction, slow diffusion:

Oz —eAz+ 10,2 = gz(u — 2)
ou—eAu = 0
More general:
r 1
(9tT+V(a:,t,€—a,€—a)VT—€/<aAT+gf(T) = 0 (15)

T(x,0) = Ty(x)

with 0 <e << 1, k>0, 0<a<1and V(x,t,y,7) l-periodic in (y, 7).

Example for V:

Vi, t,y,7) =0z, t) + Av(y, 7)

V=large scale 4 intermediate scale.



OT +V(,t, =, E%WT kAT + %f(T) ~ 0 (16)
T(z,0) = Ty(x)

Example for V:

Viz,t,y,7) = v(x,t) + v(y, 7)
V=large scale + intermediate scale.

e The intermediate scale velocity field causes the flame front to wrinkle. Qua-
litatively the increase in flame area due to this wrinkling leads to an overall
burning speed enhancement. The objective of the homogenization theory is
to predict this enhancement speed of propagation of the flame.

e Flame speed in the laminar case (V=0): 2 x /£ f'(0).

e Influence of V(x,t, %, L) ?

76067504

e It turns out that the mean front in the asymptotic limit will satisfy a varia-
tional inequality that involves the eigenvalue, i.e. the effective Hamiltonian
of a cell problem.



Theorem 8 (Cell problem:) ' For each p,x,t € RN x RN x RT there exists
a unique H(p,x,t) and a w € CH1(RY x RY) 1-periodisch in (x,t), such that

aTw T /ilp + vyw|2 + V(I,t,y,T)(p—l— Vyw) - H(p,ﬂ?,t)

Properties of H:
e H is Lipschitz continuous on By x RY x [0, co[ for all L > 0.
o p— H(p,z,t) is convex for all (x,t).
o %F[(p,x,t) — oo for |p| — oo uniformly in (z,t).

o klp]* — |Vl]xlpl < H(p,z,t) < klp]* = |V]slpl-

10Majda, Souganidis 1994



Theorem 9 (Variational inequality) ' For given H(p,x,t) here exists a
unique solution of:

max{0Z — H(VZ,x,t) + f(0),Z} =0 € RY xRt

with initial conditions

Z(x,0) = 0 for x € suppTy
Z(x,0) = —oo for x & suppTy.
(17)

Theorem 10 * Assumption as before, let T¢ be the solution of (15) and Z be
the solution of (17). Then we have

T -0 in {Z <0}
51 in {Z=0)

locally uniformly.

11 Souganidis 1994
12 Souganidis 1994



max{0,Z — H(VZ,x,t) + f(0),Z} =0 € RY xR"

7" -0 in {Z <0}
T -1 in {Z=0)

Definition (Front)
Iy = 0{x e RY|Z(x,t) <0}

Velocity of the Front: '

f(0)+ H(r,z,t)

inf7">O

13Majda, Souganidis: Large scale front dynamics for turbulent reaction-diffusion equations with separated velocity scales. Nonli-
nearity 7 (1994), 1-30 Formula (2.5)
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Computation of the effective Hamiltonian

A -regularization



e We have to solve
O+ H(t,z,c+ Vu) = H(c) (18)
and u is 1-periodic in x and t. For all ¢ € R there exists a uniquely defined
H(c) such that there exists a viscosity solution u of (18)'*, 1%,

e Assumptions for H:

— H is 1-periodic in z and t.

— H has superlinear growth, i.e.

H(x,t
llm (l‘? 7p)

§ 7] — 00 uniformly in x and ¢. (19)
p|—00 p

— H(z,t,-) is strictly convex for all z and t.
= |VoH (1, p)| < Co(1 + |pl).
e \-regularization: Solve for all A > 0:
O’ + H(t,x, Vu(z,t) = = u(x, t). (20)

and obtain (u").

14 Evans, Gomes: Effective Hamiltonian and averaging for Hamiltonian dynamics I. Arch. Rational Mech. Anal., 157, 1-33, 2001
15 Evans, Gomes: Effective Hamiltonian and averaging for Hamiltonian dynamics IT. Arch. Rational Mech. Anal., 161, 271-305,
2002



O+ H(t,z,c+ Vu) = H(c) (21)

ot + H(t,z, Vu'(z,t)) = —\u(z,t). (22)

e Theorem 11 ' Let the solutions (uy)aso of (22) be uniformly Lipschitz
continuous. Then there is a constant H € R and a subsequence A\, — 0 such
that uy, — (uy,) — u in CO(R" x R) for a viscosity solution u 1-periodic in
z and t of (21) and \yuy, — const which is defined as H.

e Main ideas of the proof:

= e, t) = inf {e u(((=7)) + J2, ML), ¢(t))dt'}.

such that {'(7) = (1,v(7)) and ((t) = (¢, )
— Definition

Thu(z,t) := min[(1 — Ah)u(z — vh,t — h) + hL(x,t,v)].

veER™
— Show that T}, is a contraction. Denote the fix point by uy,.
— Show: uy, is uniformly Lipschitz continuous.

— Show: wuy, converge uniformly to a viscosity solution u of (22).

16Kroner, Nolte 2006



O+ H(t,z,c+ Vu) = H(c)

ot + H(t,z, Vur(z,t)) = = uM(x, t).

— Error estimate: || + Aup||so < C(A + h2).



Numerics

e For small |\| solve the equation

ot + H(t,z,c+ Vur(z,t)) = = u(x,t).
o uMz,t) = irz}f {e=7 u( )+ f eM'L ,o(t))dt'}.
(1,v(7)) and ((t) = (¢, )

such that ¢'(7)
e Discretization

— Grid: z; := <, t), ==

R £, C; =[x, mi41] and CF := C; X [tg, tsa].

~ Wy = {w € C),(R X R) | wicx bilinear for all i,k € Z.}

per

— For fixed \ > 0 define '” a discrete operator T év : Wy — Wy by

TNw(x;, ty,) = m]%n[(l — AW w(z; — vh,tp — h) + hL(z;,t,v)] for all i,k € Z.
VER™

— T,iv 1s a contraction.

17 Bardi:OptimalControl



Thu(x,t) ;== min[(1 — Ah)u(x — vh,t — h) + hL(x,t,v)].

veR™

TN w(z;, ty,) == min[(1 — ANW)w(z; — vh, t, — h) + hL(x;, ty, v)] for all i,k € Z.

veR”?

— Error estimate: '® Let u;, and uflv be the fixpoints of T}, and T; ,iv respec-

tively. Then: [lu, — ud [|oo < 5%

— Choosing h = N~z we obtain |H + M|l < C(A+ N79).

e Calculation of TN w(z;, t;) for w € Wy
— numerically, we calculate the minimum of
(1 = Ah)w(x; — ho, t, — h) + hL(x;, ty, v).
over {v € R | z; — hv € C}}.

— Since w(+,ty — h) is linear on C}, the unique value v; € R such that
(1 = Ah)Oyw(zjp 1, ty — h) = OpL(w;, ty — h, v)) (25)

is a good candidate for our minimizer.

8 Theorem A.1.3 in Bardi:OptimalControl



— numerically, we calculate the minimum of
(1 — Ah)w(x; — hv, ty, — h) + hL(z;, tg, v).

over {v e R |z; —hv € C}}.

— Since w(+,ty — h) is linear on C}, the unique value v; € R such that
O(1 — )\h)ﬁxw(xﬂ%, tk —h) = Oy L(x;, tx, — h,v;) (26)

is a good candidate for our minimizer.

— If ;,— hv; ¢ C;, the minimum lies on the boundary of C}, as L is convex
in v. In this case we have to evaluate (26) in two additional points v.

Numerical tests

o H(x,t,p) = %2 + cos(27x) + 1= sin(27t).

e The effective Hamiltonian: H(P) =1 for P <2 ~1.27. 1Y

e For our tests, we use P = 1.25 and h = %

o Let wrq = Tévw[

9Gomes, Computing The Effective Hamiltonian



e The following tables denote the number of iterations I required to obtain
|ul — wy]| <1073,

A=10"1 A=10"2 AX=10"°

25 Cells 2509 30845 366 006
50 Cells 5018 61689 732012
100 Cells 10036 123377 1464024
200 Cells 20071 246753 2928047

Estimated number of iterations
A=10"1 X=10"2 Ax=10"3
25 Cells 2398 29788 355500
50 Cells 4800 59580 711012

100 Cells 9603 119171 1422157
200 Cells 19211 238346 —

Actual number of iterations

The following table shows the error ||H(P) + Awy||s. Notice that |[Mw; —
M| < 1073,



A=10"1! A =102 A=10"3 A=10"* A=10""

25 Cells 2.584-1072 2.570-107% 2.569-107* 2.575-107° 2.574-107°
50 Cells 2.471-1072 2.453-10"% 2.451-10"* 2.450-107° —
100 Cells 2.411-1072 2.391-10"% 2.389-10~* — —
200 Cells 2.370-1072 2.359-1073 — —

Error: ||H(P) + Awrl|co

Despite our error estimate, the error tends to zero for fixed A > 0 and A — 0.



Double pendulum

L(¢,¢) : = (m1+ma)glycos by + magla cos ¢y

my+m m
O + BT+ mahilad| ¢ cos(é1 — 6o)



Computation of the effective Hamiltonian
Evans method

Find a minimizer in the class C' of
I (v) == / HH @ etVY) oy (27)

Corresponding Fuler-Lagrange—equations:

div(b(u*)9,H (x, Vu*)) = 0

where
ub o= cx+0f
b(u) : = o H (2, Vub)—H(c)
_ 1 _
H*(): = Elog/ FH (V) gy
Is given.

Relation between H(c) and H*(c) ?°:

H(c) = lim H*(c).

k—o0

20Evans: Some new PDE methods for weak KAM theory, 2002



Computation of the effective Hamiltonian

Representation formula for H(c)

Theorem 12 %' Let H(t,x,p) be periodic in x and t and convez in p. Assume
that there exists a viscosity solution of

O+ H(z,c+ Vu) = H(c) (28)

and u is 1-pertodic in T and t.
Then

H = infwecngquH(x» c+ V)

21 Contreras, Iturriaga, Paternain, Paternain, 1998



End



Erliauterung zu (P2):
Finde Minimierer in der Klasse C' zu

Ik(U) - / ekH(:c,c—i—Vv)dx

Zugehorige Euler-Lagrange—Gleichungen:
div(b(u*)9,H (z, Vu*)) = 0

mit
ub o = cx+oF
b(uk‘) - ek(H(x,Vuk)—Hk(c))
_ 1
H*(c): = Elog/ FH (@) gy

gegeben. Zusammenhang zwischen a(c) und H*(c):

alec) = lim H*(c).

k—oo

Doppelpendel:
L(¢,¢") : = (m1+ma)glicos ¢y + magla cos dg
mi + mo

2

m
1267+ "S2367 + maliladh 6 cos(61 — )

(29)



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen



TO DO

sigmas wegmachen

Gomes Methode

L — 00 yYYYYYYYYYYYYYYYYYYY
Effektive Hamilton Funktion

ot 4+ Hy(t, x, Vur(x,t)) = = u(z,1).

owu(t, ) + Hy(t, z,c + Opu(t,x)) = a(c)
Zusammenhang zur Homogenisierung
O = a(z)|Dul
x
N DuE
(S)1Dw

X
€

ohu® = a

Allgemeiner: ow® = H(

W)

Dann gilt w® — w” und w" ist eine Losung von

O’ 4+ a(w?) =0



Losungsweg Teil I1:
e We have to solve
O+ H,(t,x,c+ Vu) = H(c) (30)

and u is 1-periodic in x and t

Theorem (Evans, Gomes 2002) For all ¢ € R there exists a uniquely
defined H (c) such that there exists a viscosity solution u of

O+ H,(t,x,c+ Vu) = H(c) (31)
and u is 1-periodic in x and t.
e Lose fiir alle A > 0 die Gleichung
Out 4+ Hy(t, 2, Vur(x,t)) = = u'(z,1).
und erhalte Folge (u).
e Zeige Kompaktheit der (u*) fiir A — 0.

— im stationédren Fall: Kompaktheit folgt aus Wachstumsbedingungen an
H,.

— im zeitabhéngigen Fall: adhoc Ansatz liefert Abschitzung mit %



— Methoden aus der Kontrolltheorie liefern:

M,
‘U’é(tu'x)‘ < T7 ‘Ué(t,ﬂ?) - u)‘(s,x)| < M0|t - S‘
3M,
Vug(t, )| < :
0

THEOREM Zu jedem ¢ € R" gibt ein a(c) € R, eine 1-periodische Funktion

ug und eine Nullfolge ();)ien;, so dass fiir @ = u* — min, ; v’ gilt:

N — ug, —M\u — afc) gleichmiBig fiir i — oo

B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

THEOREM Zu jedem ¢ € R" gibt ein a(c) € R, eine 1-periodische Funktion

ug und eine Nullfolge (\;)ien, so dass fiir 4" = u* — min, ; u* gilt:

N — ug, —M\uM — afc) gleichmiBig fiir i — oo
und wug ist eine Viskositéatslosung von dyu(x,t) + H, (¢, z, ¢ + Vu(z,t)) = a(c) .

Numerik



e Lose fiir kleine || die Gleichung Oyu*+ H,(t, z, c+Vur (z,t)) = = u?(z, ).
o uy(x,t) = inf {7 u(((~7)) + [0 ML), u(t'))dt'}.

VEK &
e Diskretisierung

e Fixpunktiteration

e Beispiel Doppelpendel:



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

e Beispiel Doppelpendel:

L(¢,¢') : = (m1+ma)glycos i + magla cos ¢y

mi1—+m m
%l% ,12 + 72l§¢/22 + m2l1l2¢/1¢/2 COS(¢1 - ¢2)



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Effektive Hamilton Funktion
O + Hy(t,z, Vur(x,t)) = —\u'(z,1).

Owu(t,x) + H,(t, x,c+ O,u(t,x)) = a(c)
Zusammenhang zur Homogenisierung
O = a(z)|Dul
x
N DuE
(S)1pw

X
€

ohu® = a

Allgemeiner: ow® = H(=,wy)

Dann gilt w® — w" und w" ist eine Losung von

o’ + a(w?) =0



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Ziele fiir die beantragte Projektphase:

(P1) Erweiterung der Numerik fiir Lagrange-Funktionen, die explizit von der Zeit
abhéngen.

(P2) Entwicklung eines neuen numerischen Verfahrens zur Berechnung der effek-
tiven Hamilton—Funktion nach einer neuen Idee von Evans (2002).

(P3) Integration der Programmentwicklung aus (P2) in die Programmierumge-
nung DUNE.

(P4) Berechnung der effektiven Hamilton—Funktion gem#fi Gomes 2002.

(P5) Vergleich der Verfahren aus (P2) und (P4) mit dem in der ersten Antrags-
periode entwickelten Verfahrens.

(P6) Berechnung eines Beispiels fiir die Homogenisierung der Hamilton Jacobi-
Gleichung.

Erlduterung zu (P2):



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Erlauterung zu (P2):
Finde Minimierer in der Klasse C' zu

Ik(v) ::/ ekH(;mc—FVv)dx

Zugehorige Euler-Lagrange—Gleichungen:
div(b(u")0,H (x, Vu*)) = 0

mit
ub o = cx+of
b(ub): = eFH@VW)-H ()
7 1
H*(c): = Elog/ FH (@, Vu) g,

gegeben. Zusammenhang zwischen a(c) und H*(c):

alc) = lim H*(c).

k—o00

Erlauterung zu (P6):

(32)



Beispid: Isothermale, nicht vorgemischte, turbulente

Verbrennung
t=0
] us >0 us =0
Ve U,=0 Uo >0

us (X,t)= Massenbruch des unver brannten Gases (gesucht)
Uo (X,t)= Massenbruch des ver brannten Gases (gesucht)

Ve(X,t)= (turbulente) Geschwindigkeit des Gases (gegeben)



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Beispiel: Isothermale, nicht vorgemischte, turbulente Verbrennung
Majda, Souganidis 1999

us(x,t) = Massenbruch des unverbrannten Gases (gesucht)
uo(x,t) = Massenbruch des verbrannten Gases (gesucht)

ve(x,t) = (turbulente) Geschwindigkeit des Gases (gegeben)

Ansatz fiir v(zx,t):

ve(x,t) = vg(x,t) + v (=, -)

)

™ |8
™ |~

Mathematisches Modell fiir Einschritt-Chemie:

Oup — Auy +0v:.0,ur = —usug
Orug — Aug +v:0,u9 = —Usug



Oup — Auyp +v.0,ur = —usu
Orug — Aug +v:0,u9 = —usuy

Transformation: u = uy — ug, 2 1= uy:

Oz — Az +v.0,2 = z(u— 2)

ou — Au = 0
Schnelle Reaktion, langsame Diffusion:
1
Oz —eAz+v.0,2 = —2(u— 2)
€

ou—eAu = 0



More general:

o+ V(x,t, 5%’ Sia)VT — erAT + éf(t) =0 (33)
T(x,0) = 0 (34)
(35)

with0 <e << 1, k>0, 0<a<1and V(x,t,y,7) l-periodic in (y, 7).

Example for V:

V(e t,y,7) = o(x,t) + Au(y, 7)

V=large scale + intermediate scale.

e The intermediate scale velocity field causes the flame front to wrinkle. Qua-
litatively the increase in flame area due to this wrinkling leads to an overall
burning speed enhancement. The objective of the homogenization theory is
to predict this enhancement speed of propagation of the flame.

e Flame speed in the laminar case (V=0): 2 x /£ f'(0).

e Influence of V(x,t, %, L) ?

) g@y g



e [t turns out that the mean front in the asymptotic limit will satisfy a varia-
tional inequality that involves the eigenvalue, i.e. the effective Hamiltonian
of a cell problem.

Theorem (Cell problem, Majda, Souganidis 1994 For each p, z,t € RY x
RY x RT there exists a unique H(p, z,t) and a w € C*'(RY x R*) 1-periodisch
n (x,t), such that

Orw — klp + Dw|* + V(x,t,y,7)(p + Dw) = H(p, z,1)

Properties of H:

e H is Lipschitz continuous on Ky x RY x [0, oo[for all L > 0.
o p— H(p,z,t) is convex for all (x,t).
) %H(p,a:,t) — o0 for |p| — oo uniformly in (z,t).

o s[p|* — |Vl]slp| < H(p,x,t) < k|p* — |[V]l|pl.

Theorem (Variational inequality, Souganidis 1994) For given H(p, z,t)
here exists a unique solution of:



max{0,Z — H(DZ,x,t) + f(0),Z} =0 € RY x R"

with initial conditions

Z(x,0) = 0 for x € suppTy
Z(x,0) = —oo for x & suppTp.
(36)

Theorem (Majda, Souganidis 1994) Assumption as before, let T¢ be the
solution of (37) and Z be the solution of (36)Then we have

T° -0 in {Z<0)
T°—1 in {Z=0}

locally uniformly.

Definition (Front)



I = 0{x e RY|Z(x,t) <0}

Velocity of the Front: *

f'(0) + H(r)

inf7">O

):0,0.0.0.0.0.9.0.0.9.0.0.0.0.9.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0,0.0.0.0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.0.0.0.¢

22Majda, Souganidis: Large scale front dynamics for turbulent reaction-diffusion equations with separated velocity scales. Nonli-
nearity 7 (1994), 1-30 Formula (2.5)



Schwache KAM Theorie: Welche Mengen G sind unter dem durch (8) gege-
benen Fluss riickwérts invariant?

Gy = {(z,c+ Oyu(x)| uist differenzierbar in =}

besitzt diese Eigenschaft.



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Losungsweg Teil I: Finde zu gegebenem c ein a(c¢) und ein u, so dass

o+ Hy(t,z,c+Vu) = ac)
p(t,z): = c+ Vu(t,z)

V(r) = 0pHo(7,7(7),p(7))
p/(T) — _axHa(T77(T)vp(T))

mit Anfangswerten v(t) = z und p(t) = ¢+ Vu(t, x).



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Difficulties: for solving: dyu + H,(t,x,c+ Vu) = a(c)
e In general the solution is not differentiable.
e For fixed H(P) several solution can exist.
e There exists H(P) such that no viscosity solution exists. (Gomes).

e The constant H(P) makes the problem much harder than
Owu+ H(t,z,Vu) =0

e Existence of a solution (H(P),u)

— in 1D: Jauslin, Kreiss, Moser (1999, using conservation laws)
— for the stationary case: Lions, Papanicolao et al.
— nonstationary case: here

— This result is the bases for he numerics.



Losungsweg Teil I1:
e Lose fiir alle A > 0 die Gleichung
o + Hy(t,x, Vur(x,t)) = —\u(z, 1),
und erhalte Folge (u').
e Zeige Kompaktheit der (u*) fiir A — 0.

— im stationdren Fall: Kompaktheit folgt aus Wachstumsbedingungen an
H,.
— im zeitabhéngigen Fall: adhoc Ansatz liefert Abschiatzung mit %
— Methoden aus der Kontrolltheorie liefern:
i) < BT () (s, 2)] < Mot — o
3M,,

\Vué(t, r)| < .
o

THEOREM Zu jedem ¢ € R" gibt ein a(c) € R, eine 1-periodische Funktion
up und eine Nullfolge (\;)ien;, so dass fiir @ = u* — min, ; u? gilt:

W —s ug, —NuM — a(c) gleichmiaBig fiir i — oo



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

THEOREM Zu jedem ¢ € R" gibt ein a(c) € R, eine 1-periodische Funktion

up und eine Nullfolge ();)ien;, so dass fiir @ = u* — min, ; v gilt:

A

N — ug, —M\u — afc) gleichmiBig fiir i — 0o

und uy ist eine Viskositatslosung von dyu(x,t) + Hy(t, x,c + Vu(z,t)) = a(c) .

Numerik
e Lose fiir kleine || die Gleichung  dyu*+ H, (t, z, c+Vur (z,t)) = = u?(z, 1),
o Wt = {7 ulC(—) + [ L), v}
e Diskretisierung

e Fixpunktiteration

e Beispiel Doppelpendel:



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

e Beispiel Doppelpendel:

L(¢,¢') : = (m1+ma)glycos i + magla cos ¢y

mi1—+m m
%l% ,12 + 72l§¢/22 + m2l1l2¢/1¢/2 COS(¢1 - ¢2)



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Effektive Hamilton Funktion
O + Hy(t,z, Vur(x,t)) = —\u'(z,1).

Owu(t,x) + H,(t, x,c+ O,u(t,x)) = a(c)
Zusammenhang zur Homogenisierung
O = a(z)|Dul
x
N DuE
(S)1pw

X
€

ohu® = a

Allgemeiner: ow® = H(=,wy)

Dann gilt w® — w" und w" ist eine Losung von

o’ + a(w?) =0



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Ziele fiir die beantragte Projektphase:

(P1) Erweiterung der Numerik fiir Lagrange-Funktionen, die explizit von der Zeit
abhéngen.

(P2) Entwicklung eines neuen numerischen Verfahrens zur Berechnung der effek-
tiven Hamilton—Funktion nach einer neuen Idee von Evans (2002).

(P3) Integration der Programmentwicklung aus (P2) in die Programmierumge-
nung DUNE.

(P4) Berechnung der effektiven Hamilton—Funktion gem#fi Gomes 2002.

(P5) Vergleich der Verfahren aus (P2) und (P4) mit dem in der ersten Antrags-
periode entwickelten Verfahrens.

(P6) Berechnung eines Beispiels fiir die Homogenisierung der Hamilton Jacobi-
Gleichung.

Erlduterung zu (P2):



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Erlauterung zu (P2):
Finde Minimierer in der Klasse C' zu

Ik(v) ::/ ekH(;mc—FVv)dx

Zugehorige Euler-Lagrange—Gleichungen:
div(b(u")0,H (x, Vu*)) = 0

mit
ub o = cx+of
b(ub): = eFH@VW)-H ()
7 1
H*(c): = Elog/ FH (@, Vu) g,

gegeben. Zusammenhang zwischen a(c) und H*(c):

alc) = lim H*(c).

k—o00

Erlauterung zu (P6):

(37)



Beispid: Isothermale, nicht vorgemischte, turbulente

Verbrennung
t=0
] us >0 us =0
Ve U,=0 Uo >0

us (X,t)= Massenbruch des unver brannten Gases (gesucht)
Uo (X,t)= Massenbruch des ver brannten Gases (gesucht)

Ve(X,t)= (turbulente) Geschwindigkeit des Gases (gegeben)



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen

Beispiel: Isothermale, nicht vorgemischte, turbulente Verbrennung
Majda, Souganidis 1999

us(x,t) = Massenbruch des unverbrannten Gases (gesucht)
uo(x,t) = Massenbruch des verbrannten Gases (gesucht)

ve(x,t) = (turbulente) Geschwindigkeit des Gases (gegeben)

Ansatz fiir v(zx,t):

ve(x,t) = vg(x,t) + v (=, -)

)

™ |8
™ |~

Mathematisches Modell fiir Einschritt-Chemie:

Oup — Auy +0v:.0,ur = —usug
Orug — Aug +v:0,u9 = —Usug



Oup — Auyp +v.0,ur = —usu
Orug — Aug +v:0,u9 = —usuy

Transformation: u = uy — ug, 2 1= uy:
Oz — Az +v.0,2 = z(u— 2)
ou — Au = 0
Schnelle Reaktion, langsame Diffusion:
Oz —eAz+v.0,2 = —2(u— 2)
ou—eAu = 0
Transformation: z = exp®

8twe — eAw, + Usast - (axwe)Q = Q(y€7 we)
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Owe — eAw, + v.0,w, —

(ast)Q - Q(ysaws)



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen
2
3tw6 - 5Aw€ + Usﬁst - (ast) = Q(ysa ws)

t
atws _ EAZU5 + H(CC, t: ) g; &vws) = Q(yea ws)-

Frage: w. — 7 if ¢ — 0.



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen
2
&fwe - 5Aw€ + Usﬁst - (ast) = Q(ysa ws)

t
atws _ EAZU5 + H(ZC, t; ) g: &vws) = Q(yea ws)-

Frage: w. — 7 if ¢ — 0.

THEOREM (Majda, Souganidis) Man erhilt:
w, — w'
und w? ist Viskositétslosung von
max{0w’ + H(z,t,0,u°) — q(y°,w)),w’} = 0

wobei H definiert ist durch: Fiir alle ¢, z,t gibt es eine Losung w; von

O-wy + H(x,t,y,7,c+ dwi) = H(c,z,t)



B.2 Minimale Orbits und Hamilton-Jacobi Gleichungen



Ergénzungen
Voraussetzungen an L: Im Rahmen unseres Projektes betrachten wir Lagrange
Funktionen L(¢,z,u) mit den folgenden Eigenschaften.

o L ist in C*(R x R" x R"), n € N und L ist 1-periodisch in ¢, z. L ist
strikt konvex in v und superlinear in v. Es existiert ein ¢ > 0 so dass
M = R""! x B,(0) c RY?" unter dem Euler-Fluss zu L invariant ist. L
ist Lipschitz stetig und beschrankt bzgl. x € R” gleichméfig bzgl. v auf
kompakten Teilmengen.



Als ein wichtiges Hilfsmittel stellt sich heraus, dass sich die Viskositétslosung
von (37) auch als Minimum eines Funktionals darstellen 148t. Sei

J(x,t,0) ::/O L(C(7),v(r))e dr (38)

mit v € K, := {v : R — R"|v beschrankte Borel-Funktion mit [v(7)| < s} und
((1) = (.(7) ist Losung von

Coo(T) = (1,0(7)) (39)

Setze ut(x,t) := u)(x,t) := inf,cr, J(x,t,v). und erhalte: u)(x,t) ist 1-periodisch
in 2 und ¢, Viskositiitslosung von (37) und u)(x, t) erfiillt fiir alle z = (¢,2) und
fiir alle 7 > 0:

up(,t) = inf {e " u(C(=) + [7, ML), v(t"))dt'}. (41)

veK,

Der wesentliche Baustein der Methode besteht nun darin, den Grenziibergang
bzgl. A — 0 in (37) zu kontrollieren. Relativ einfach erhélt man die Aussage,
dass u)(z,t) Lipschitzstetig ist auf K x [0, T fiir alle kompakten Teilmengen
K C R". Dies reicht aber leider nicht aus, die Kompaktheit zu garantieren,
da die Aussage sich auf feste A, o bezieht. Eine genauere Analyse liefert aber



die Lipschitzstetigkeit und damit die Kompaktheit der Losungen uy von (37)
gleichmaéssig bzgl. A in ¢, x fiir festes 0. Man kann zeigen, dass es ein M, gibt,
so dass fiir alle A > 0 und x € R",t > 0

M,
‘ué(t’x)‘ < T? \ué(t,x) - uA(s,x)| < MU’t - S‘ (42)
3M,
IV, (t, )| < p (43)

Auf der Basis dieser Abschétzungen kénnen wir jetzt den Grenziibergang A — 0
der Losung u) von (37) fiir festes o kontrollieren. Wir zeigen, dass ein o € R,
eine 1-periodische Funktion u und eine Nullfolge (\;);en existieren, so dass fiir
W =ut — min, 4 u gilt:

ANy, —Aut — o gleichmaBig fir i — oo (44)

u
und uy ist eine Viskositatslosung von dyu(x,t)+H,(t, x, Vu(x,t)) = « . Fiir jedes
i sei v; der Minimierer des infinite-horizon Kostenfunktional, d.h. fiir z = (x,t)

whi(2) = JY(z,0) = ir}g JY(z,v). (45)
VEK 5

Aus der Beschrianktheit der Kontrollen v; folgt dann auch die Konvergenz der
¢; und v;: Es existiert ein vy, in K, und eine Teilfolge (i;)ren so dass fiir alle



t' > 0 gilt:

G, — G 0 CO([=F,0],R")
Vi,  — Uso in  L*([—t/,0],R™) schwach x
Sei (oo(-) 1= G (- + 1) dann ist (oo minimal.

Dies alles gilt fiir festes 0. Unter der Voraussetzung, dass

O + H(t,x, Vu(z,t) = = u(x, 1) (46)

eine Losung besitzt kann man zeigen (Beachte: Dies ist die Gleichung (37) mit
H anstelle von H,.) , dass u) fiir grofie o unabhingig von o ist.



Wellenfunktion eines Teilchens in einem Potential V:

2
wonh — ?w” —V(x)y =0

Yy: Fourierkoeffizienten von v und w definiert durch ¢y (x) = exp(—w(z)/v)
dann:

—w’ — —w?-V(z) = E (47)

Lagrange—Funktion: L(z,v) := $0? — V()
Hamilton-Funktion H(z,p) := 3p* + V().
Dann erfiillt w:

2
Opw — %ww + H(z,w,)+ FE =0. (48)

In [?] ist nun fiir n = 1 gezeigt worden, dass es eine Konstante E, und ein £ € R
gibt, so dass fiir die Losung w,(z,t) von (48) mit E, anstelle von E gilt:

wy(z,t) — he'(z,t,&) = w(x,t)



fiir v — 0 mit

hX(x,t,&) =
lim inf min {/t [L(q(s),q'(s)) = cd'(s) + a(c)]ds| q € AC(t,n,x,f)}

und AC(t,n,z,§) :=
{q . [t,n] — S'|q ist absolut stetig, ¢(t) = =, q(n) = 5} .

und w ist eine Losung der Hamilton—Jacobi-Gleichung

Oww + H(x,w,) + E = 0. (49)

Das heifit, dass das globale Minimum des Wirkungsintegrals (49) auch Visko-
sitatslosung 6sung der Hamilton—Jacobi-Gleichung (49) ujnd damit i.allg. nur
Lipschitz stetig ist. Ausserdem folgt aus [?] fiir n = 1, dass £ das Minimum von
V' mit der kleinsten zweiten Ableitung ist und

V(&) + higher order terms. (50)



